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Note#1: a atis one who has seen at least two seminal emiss06ions that are discolored in some whitish hue

Note#2: a person who sees signs of scale disease on his body must show them to a jn if they are potential nyIy 2070, he is
quarantined (1101p) for a week, after which he is inspected again; if the signs have grown darker, he is released; if not, he has another
week of 1207, If after that 2 week the signs haven't spread, he is released; if they have spread, he is now a “certain” (v5m18) Y7131.
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L. 10 mwn: sole difference between v naw — wa1 Y2 - following X1 (v1)
a.  Contra: nmn> 1 who allows w21 9218 »1»wan as per 03% (v1)
1. 2717 039 excludes 021,015
2. »71. RN excludes mwan that could have been taken care of before v™»
II. 20 mwn: sole difference between 5”1y naw — human vs. divine punishment (3"nv is n12)
a.  Application: re: »n 117172 1°Y 0p — they are equal (per p”nax1 who equates n12::7"an for n”a%p)
b.  Challenge: mn»3 27N get man as per v2, mwn should read naw::>"nv - both by 12
1. Answer1: follows pny’ 7 who rejects that read of v2
2. Answer2: mwn refers to essential punishment
II. 1 mwn: sole difference between a 711 of NR1N and 771 of a1 Y21R: non-food vessels and trespassing
a.  Implication: same for food-use vessels
b.  Re trespass: follows 8™ (AR 97n has no rights of forgiving)
IV. 2y mwn: sole difference between n»111 and mam: responsibility if 1279 not brought properly (111 only)
a.  Implication: equal for violation of Inkn %2
1. Definition of 77x someone who says “..."5» 10"~ responsibility “on his shoulders” as per v3
2. Definition of 727> someone who says “..11 10" - obligation associates with specific animal
V. 11 mwn: sole difference between ar of 2 “sightings” and one of 3 “sightings” —129p (on 8th day)
a.  Implication: re: (01T0) 2WVIM 25WN NRMY — and obligation of 0»p) NYaW NP9V — equal
b.  Source: for distinction between 2 or 3 nvR1 re: 129p:
1. 8120 7. the 1N reckons 2 and also 3 as "Rnv” — must be 2 for nkmw and 3 for 129p
a.  Can’t be: 2 for 127p and 3 only for nkMY (no 121p) — already saw 2->127p
b.  Can’t be: 2 for 127p and 3 adds nkmY — v4 — 1210 — only some bring the 127p
i Inotherwords: the set of »Xnv must be larger than set of j27p »®van
c.  Note: 'vno " establishes number of sightings; 12111 solves challenge of (b)
d.  Challenge: if yavn limits, why is v5 read inclusively (even a nyx1 1 Yva ar counts ©»p1 '1)?
i.  Note: reasoning doesn’t grant us D»p1 "1, as per counter from > NIMY
ii.  Answer: If the text meant to limit, it could’ve avoided 1awn totally inclusive
VI. 21 mwn: pymien:
a.  Sole distinction: between v9mMM 70N YI¥N (see note) — rending clothes and letting hair grow wile

1. And: afterwards, for shaving and bird-offering
a.  Implication: for exile and status — they are equal
2. Sourcel: (v6) 9001 —i.e. never had to perform nn»m Yo

a.  Challenge: can’t read end of v5 - 7101 — as some preventative nnv,
i Rather: it means no retroactive nRMY (VO NRMY for a1, AR NRMY for YIIXN)
3. Source2: (v. 7 — 19y nyMa) refers to y11¥n who requires healing, not just lapsed time
a.  Challenge: if so, v8 (exile) should only refer to vomn as well
b.  Answer: »m 93 includes 7o y¥n
i.  Challenge: if so, "m0 should be included for shaving and bird-offering
ii.  Answer: v9 (m19%1 nnYan) refers to yMxn requiring healing (X971) not lapsed time (n'n?)
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